Lk 1 initially contains 10L

1. (10 pts) Tan
(10 pts r with 8008 of s

9 initially contains 1200L of wate

Letting y; and y2 be the amounts of salt (in grams)
0 respectively, and using these (and t) as your only variables,

down a system of differential equations,
to model this situation.

Is the resulting system linear?
specify if it is homogeneous, and whet

[f so, write it in matrix form, and also
her or not it has constant coeffi-

(Answer on the following page.)
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(Problem 1 continued. . . )

Linear? G E9 NO
'ES ( NO™

Homogeneous? YES ( )
Constant coefficients? YES | NO
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